Copyright Lappset Group Ltd

% LAPPSET.

VERTICAL MAZE

ASENNUSOHJE
MONTERINGSANSVISNING
INSTALLATION INSTRUCTION
AUFBAUANLEITUNG

NOTICE D’INSTALLATION

DATE: 27.11.2023

Q16789




s LAPPSET.

VERTICAL MAZE

Q16789

1(

W
—

DATE: 1.11.2022
008986 |pcs 701898 |pcs 701932  |pcs 702286  |pcs 702339 |pcs 702646 |pcs
10 3 5 s 12 F ° 2 1
750x750 65x65 118x78 32x95x502
703335 |pcs 703338 |pcs PCS 706443 |pcs
il 1 18 28 26
L 1750 L 704 H 95 L 926 L 704 32x95x702
706481—704|pcs 706512  |pcs 706514  |pcs 706534  |pcs 706535 |pcs 706551 PCS
2 101 6 - 8 10 36
NG o ° ° = s
N\ | g | P s
o= < e
]
83x83x10 70x120x704 70x120x1504
706710—305|pcs 706742 |pcS 706896 |pC 706897 |pcs 706905
4 4 1 1 N
2| | T Nt
216x618 15x150x703 93x93x1870 15x300x702
707341—303|pcs 707349 |pcs 707373 |pcS 707374  |pcs 707437 |pcs 707588 |pcs
< ‘/ Q—‘ < ’/
1520x705 L 1504 32x45x1502
707590—303|pcs 707732 |pcs 707976  |pcs 707977  |pcs 707978
16 1 1
<
NS
s — — — —
j 755x755 15x750x1550 15x750x1550 15x550x550 396x840
3 707985 |pcs| 708950—704|pcs| 708951—704|pcs| 708988—303|pcs| 708990—303|pcs| 708991—303|pcs
° 1 1 T 1 2
o / — — — —
g < .
o e
Jore ~_
(o]
S 15x750x750 2650x15 @16x1100 216x795 216x575




s LAPPSET.

VERTICAL MAZE

Q16789

1(

W
—

DATE: 27.11.2023
008986 |pcs 701898 |pcs 701932  |pcs 702286  |pcs 702339 |pcs 702646 |pcs
10 3 5 s 12 F ° 2 1
750x750 65x65 118x78 32x95x502
703335 |pcs 703338 |pcs PCS 706443 |pcs
il 1 18 28 26
L 1750 L 704 H 95 L 926 L 704 32x95x702
706481—704|pcs 706512  |pcs 706514  |pcs 706534  |pcs 706535 |pcs 706551 PCS
2 101 6 - 8 10 36
N — Rl S = b
N\ | A7 End
o= < e
]
83x83x10 70x120x704 70x120x1504
706710—305|pcs 706742 |pcS 706896  |pcs 706897 |pcs 706905
4 4 1 1 N
2| | T Nt
216x618 15x150x703 93x93x1870 15x300x702
707341—303|pcs 707349 |pcs 707373 |pcS 707374  |pcs 707437 |pcs 707588 |pcs
< ‘/ Q—‘ < ’/
1520x705 L 1504 32x45x1502
707590—303|pcs 707732 |pcs 707976  |pcs 707977  |pcs 707978
16 1 1
<
NS
s — — — —
j 755x755 15x750x1550 15x750x1550 15x550x550 396x840
3 707985 |pcs| 708950—704|pcs| 708951—704|pcs| 708988—303|pcs| 708990—303|pcs| 708991—303|pcs
° 1 1 T 1 2
o / — — — —
g < .
o e
o rel ~_ %
(o]
S 15x750x750 2650x15 @16x1100 216x795 216x575




Q16789

& LAPPSET. 2(3)
VERTICAL MAZE 3
DATE: 27.11.2023 a
709057 |pcs 709858 |pcs 709862 |pcs 710194  |pcs 900240 |pcs 900342 |pcs
% 1 32 16 |49 36
NER '/ %ﬂﬁ% -. @
32x45x290 = L 704 @8x70 M8x16
900733 |pcs 903093 |pcs 903176 |pcs 903215 |pcs 903227 |pcs 903260 |pcs
6 809 58 1 7 |4
(/ ©
@450x83 @8x90 2618x34 50x130x704
905104 |pcs 905138 |pcs 905196 |pcs 905827 |pcs| 907688—216|pcs 909256 |pcs
60 35 24 16 98
) oW
GRAY GRAY M8x20 @16/8.4
PCS 909633 |pcS 909850 |pcs 980100 |pcs 980107 |pcs
36 - 80 20
Q‘ @
130x130x150 M8 705x612 M8x25 @5x60 @6x60
980114  |pcs 980123 |pcs 980128 |pcs 980131 PCS 980151 PCS A00519 |pcs
16 E 58 220 / 140 4 12
D4x20 @7x60 @7x40 @6x60 216 /8.4 =
AOO553 |pcs AOO0B00 |pcs| A10039-5 |pcs A10064 |pcs A10573 |pcs A10579 |pcs
1 :] 6
b - " |
- = =
3 A10581 |pcs| P02837 |pcs| PO6303 |pcs| P10348 |pcs| P10349
5 il il il il
- 1 1 3 2
2 [ ] B 2|
Ql
Q.
:
5 %
i ] ] ] ] {
8 = 8x930x703 12x1625x703 8x750x1550 8x750x1550 12x500x700




s LAPPSET.

VERTICAL MAZE

Q16789

3(3)

3b

DATE: 27.11.2023
P15123 |pcs P15125 |pcs P15127 |pcs P15128 |pcs P15136 |pcs P15142 |pcs
29 9 6 4 16 16
93x93x5350 93x93x3370 93x93x200 L 1504 H 95 45x120x704 350x748
P15158 |pcs P15171 PCS P15217 PCS P15247 |pcs P15248 |pcs P15293 |pcs
6 10 4 2 2
700x1775 749x1775 12x700x750 12x1650x703 12x1000x703 55x120x704
P15309 |pcs P15314 |pcs P15339 |pcs P15340 |pcs P15396 |pcs P15397 |pcs
1 2 4 2 28 35
L 728 10x200%x510 45x45x1500 45x45x1810
P15398 |pcs P15405 |pcs P15406 |pcs P15422 |pcs P15429 |pcs P15431 PCS
24 3 5 2 7 1
45x45x2140 45x45x1800 45x45x1780 45x45x1649 85x645x1810 90x645x1810
P15432 |pcs P15433 |pcs P15434 |pcs P15435 |pcs P15439 |pcs P15440 |pcs
I 6 2 3 ‘ 7
90x645x1810 90x645x1500 90x645x2600 90x645x2600 85x645x1500 85x645x2140
P15441 PCS P15442 |pcs P15443 |pcs P15444  |pcs P15445 |pcs P15446 |pcs
I 4 amlll | 7 2 4 3
e — — — — — —
j 85x645x1795 85x645x849 85x645x1650 85x645x1800 85x390x645 85x645x1980
3| P15447 |ecs| P15448 |pcs| P15462 |pcs| P16102  |pcs PCS PCS
f 1 1 1 5
o | | | | | |
a
Q.
3 /
§ 85x645x1740 85x645x1740 116x1445%x2140 24x50x703




:75

00¥9

4R
N/

Q16789
27.11.2023

DATE:

610
800

OO0
O O O
O O O

(

1610

OO OO0 00000 .
o
00
O D O @ O IO O .
o
(DY MY Y MY MY D ®
VVoOYYYY YUY YUY

EN/AS Impact Area 68.1 m2
Falling Space 49.9 m2

s LAPPSET.
VERTICAL MAZE

008 008 008 008 008 008 008 008

p3}7] dnoug 3jasddpT jybrhdon



== LAPPSET.

VERTICAL MAZE

Q16789

DATE: 27.11.2023

4A

Copyright Lappset Group Ltd

Concrete foundation plate
7530x5940x150 mm

2730

175

7530

3210

4000

3530

5940

Ix REINFORCEMENT
STEELNET 8 #1350 A 300 HW

CONCRETE K30 ﬁ\\\\\&
| X\

A

Pay

[
| 4




Q16789
DATE:

s LAPPSET.

VERTICAL MAZE

4B

27.11.2023

50

AR
\\\\\1 O°

’ oo

Z °

AL ——
.

o eo o
o
e
ZL N5 I—
#Z m
s

2,  ceevse oo
8
O ZAss s

M10x100

M10

905104

905104

p17] dnoug josddp jybuhdon



Q16789

DATE:

s LAPPSET.

VERTICAL MAZE

27.11.2023

EN/AS Impact Area 41 m2
Falling Space 52 m2

75

Max Falling Height 1520 mm

0189

5000

0¥81

oononoonannnnnnnannnannnnannarnRAODNARRNNOOROG

0081

6310

ocvlL

00G1

0966

p3}7] dnoug 3jasddpT jybrhdon



Copyright Lappset Group Ltd

& LAPPSET. Q16789

VERTICAL MAZE DATE:  27.11.2023

+5600
+3520
LT
'!|; +2020
”ml mj\ +1520
| |||||| |
i I\I\I\III il
] | +0




27.11.2023

Q16789

DATE:

s LAPPSET.

VERTICAL MAZE

DET 2

=i

WN——— \./{/ A
==y : A r—

DET 1

[— ———

@ ©

p3}7] dnoug 3jasddpT jybrhdon



& LAPPSET. 16789

VERTICAL MAZE DATE: 27.11.2023 6A

DET 1 DET 2 DET 3 DET 4
Aﬁ 26x80
58490 (980107)
é:;;;§9 26x60 (903093) ey ‘f////*gggggi
m> ® 706481
C% éﬂ

DET 5 DET 6 DET 7/ DET 8
0UT SIDE 706514 28x90
(303093)
S 3 e
.
Ny |y e
28x90 28x90 v 06905
(903093) (903093)
DET 9 DET 10
— PREGZ?)R‘$ H:BE Pre—drill
|osgso
M 907694
@8x70
(300240)
DET 13 DET 14 DET 15
gg*%?\LZgOLE.

@8x70
W %

Copyright Lappset Group Ltd

908949 905827
909633 909256
DET 17 DET 18 DET 19 DET 20M8X25
®8><9© (gnggsem 216/8.4
% s | _D7x40
& g - (980128) 216 /8.4
4! 909256
) ’ @‘ ) ~ é( )
/
M8x20 @
(905827) N M8
(909633)




Copyright Lappset Group Ltd

s LAPPSET.

VERTICAL MAZE

Q16789

6D

DATE: 27.11.2023
DET 26 DET 27/
710194
P15293
P15293
710194
floor in the middle !
P15142




POST

——BEAM
980123

STRIP—

WALL ELEMENT

903093
3pcs per normal beam
6pcs per double beam

Install strips on the middle
of the posts

Equal spacing between posts
and wall elements

[
[
L
[
[
[
L

—1
®

[ —

||

||

||

||

||

||

—1
[©)

@
L\,
@
.,
.,
@

o @

——WALL ELEMENT

POST Wall elements and strips aligned

with the bottom of the posts.

STRIP



7

TOWER A

27.11.2023

DET 19

Q16789

DATE:

s LAPPSET.

VERTICAL MAZE

905W96

g g%
N7\ \% \
?%%% Jw%/a

:E

v?ﬁ? b

/06514

p17 dnouo 3jesddp yybruhAdon



7.2

AO00519
x6

TOWER A

27.11.2023

Q16789

DATE:

s LAPPSET.

VERTICAL MAZE

=)

/@Z%ﬁ%

AN N\ /A/UFMIK%WW MM\\

k.\k bk

PW5248
P15248

p17 dnous 3jesddo yybruikdon



7.3

P15440

TOWER A

27.11.2023

Q16789

DATE:

s LAPPSET.

VERTICAL MAZE

DET 26 =27
D
~
N
B

DET 5

DET 27

p17 dnoug 3jesddo yybrkdon



TOWER A
7.4

27.11.2023

Q16789

DATE

& LAPPSET.

VERTICAL MAZE

P15440

909745

008986

B/ x40

p17 dnouts jesddp yybrhdon



Copyright Lappset Group Ltd

88 LAPPSET, Q16789 TOWER A

VERTICAL MAZE OATE:  29.11.2003 7a

| R —-

+5270
+4500
N . +4140
41509 +4380 +4060
+3940 +4000
- +3780 ¥3900
i +970U
+3490
+3370
V// ( 1 +2650
+2530
(@]
N
//1 +1870 1
+1370
+1370 +1250
+1130
s :
+1010
Q
n
N
3 +270
+0 o

oo I

1 =

+2520

+1370 \\I +1250 (/f\\w
+1130 k\\\\\;

LA +0

180
120

=i

2400




7b

TOWER B

27.11.2023

Q16789

DATE:

= LAPPSET.

VERTICAL MAZE

mk%rfrrrft

/06905

p}7 dnou9 yesddo yybrikdo)d



TOWER B
7h2

27.11.2023

Q16789

DATE

s LAPPSET.

VERTICAL MAZE

P10348

AO00519

A10581

RV
A

L—n
e — e ~za =
e —
\\\\\\\\ =
oz z
z

Y —— ———————————————
—————r—— T T 7 7T

/1 I

=~ /g — 418

Tavdl
W/ 777777777 NX
i i

7777

T 777 N RV T T ] ]

INNNNNNN/INRNNNRANNEN
INSNNEEN//INNNNNERNNEN
-

=g ——~~~—~r oy e —
: _ T <~ r———— o
————————————————— pr—— ; 4 4/ —
1 N < /
., y . . ]
eSS EEERRREE e e e e
I I T 1T 1] — T
AR AR e e
IS S NN NSRS REN NSNS RRN) :
HHHH AT AT~~~ e
TN T 1
HHHHHHHHAA R HEEETEE——————————e————1T, 1 S—— 2 S— S
(SN SENNS RN R NRRANEEENC Y RNNN] >
HHH AT AR A EE=E——————— — — 2 ——
T T AN T T

INENNESNENAE
It

T 7777V 7 NN B

1

1 AV

P10349

DET 15

7064831
P15448

p3y7] dnoug 3jeosddpT jybrhdon



8 LAPPSET, 016789 COWER B

VERTICAL MAZE OATE: 29.11.2003 7c

@ 7 1:50 )

/ ]

+5350
@ m m - +5270 @ -~ N - +5350
: +5270
; ; +3490
F q +3370 +3370
—
N /] !
=1/ _ +1870 11870
]
-
773 . N
— .
v .
v .
== +300
+270
_W% = |
I E—E +0 i
1 il il

Copyright Lappset Group Ltd




TOWER C
7d

27.11.2023

Q16789
DATE:

VERTICAL MAZE

& LAPPSET.

706439
008986
907688

4

S5
A
]
A
=X
DET 10—-11-12-13

/vl

i 1 D)
(@) —
M M)
< IoNe>!
€@ O x
O O
™~ ()

@@@W%

p3}] dnoug 3jesddpT 1yblhAdo)



TOWER C

Q16789

& LAPPSET.

VERTICAL MAZE

7d2

27.11.2023

DATE

P10348

P15446

008986
706059

2\ 1D

= |——

S

Pllllll%

Plllll!\
‘|\\ A\
|\\\
~\\
A sr &

N
N
AN

\
r—

.

L=
= ..
IRLIONLZZT TIX NI IR N TN

T e 1 1 e 1 T e 11 e 1 N——— 4

IINGA TR N T X A NS AN NT

JJ T JJ 77Ty
INENERENE

N\ T —— o

P10349

\Tiiﬂ""ﬁrllrll

i ey ,

— )
————— }/
= yu/
—_——— = : ! N
:
I i 3 )
A T T Vi

S
o
o

p17 dnous 3jesddo yybrihdon



s LAPPSET. Q16789 TOWER C

VERTICAL MAZE DATE:  27.11.2023 7e

@ i ”‘“ i +E;]3:5§O m

| +5270
+3370 /
f
+2640
+2520
] [ +1870 ] W
+1370 B« « (
+300
3 N
Te}
- $ o
0 +0 +0
1T 1T il

@ - - - @ ' m +5270

=] =
b N +3370
]
] W ] W +1870
"l "l p
D v o 4
+1140
_ +270
: +0
11 11 11

Copyright Lappset Group Ltd




TOWERD

Q16789

DATE:

= LAPPSET.

FINNO

7

27.11.2023

RANY
% %4 x% &

%\w w\%xx

\ = :
/,/ il ,
v/

%

a

o
o) 8 —
% M 0 3
o 4 © 0 <
O © 7 o
= O () O
[ )] &)

py7 dnou9 31esddp jybrihAdo)



7.2

TOWER D

DATE: 27.11.2023

Q16789

& LAPPSET.

FINNO

/ <>§ _t g
/ > T N i _ %
R —

-\ RS

p17 dnouo 3jesddp jybrhAdo)



TOWER D

Q16789

s LAPPSET.

FINNO

7.3

11.2023

27

TE

DA

P10349

A00519
P15440
A00800
P15444
A00800

7 1] | 8 s = = 1/ 4

> e~ S

=== 7 ——' 15 et ¥ E— |.l.i|||.4|~!/

P10349
P15398

p17] dnoug 319sddpT 1yblAdo)



TOWER D
7.4

27.11.2023

Q16789

DATE:

= LAPPSET.

FINNO

P15440
A00800

p}] dnous y1esddo yybruikdo)d



8 LAPPSET, Q16789 COWER b

FINNO 7
DATE: 27.11.2023 a
A e R R
+4410
+4290
+3370 ] W /
— : +3370
+3250 - -
+2640
] W +1960 ] W] W +1870
+1740
+1370 +1370
+1050
+270
+0 +0
Il 10 I IRl 1L 11

Il | Il @ m +5270
Il

+1140

+0

Copyright Lappset Group Ltd




Q16789

s LAPPSET.

VERTICAL MAZE

27.11.2023

DATE

p3y7] dnoug jasddpT jybrhdo)



& LAPPSET. Q16789

VERTICAL MAZE OATE: 27112023 8a

A10039

Copyright Lappset Group Ltd




_JLAPPSET. TEXT PAGE

FINNO REF: TEXT
DATE:  27.4.2008

Copyright Lappset Goup Ltd

1. Tarkista tuoteosaluettelon ja osiin merkittyjen tuotenumeroiden avulla,
etta kaikki osat sisaltyvat toimitukseen.

2. Valitse valineelle paikka ottaen huomioon valmistajan asennusohjeessa ilmoittamat
turvaetaisyydet. Valitessasi valineen asennussuuntaa, huomioi mahdollinen altistuminen
voimakkaalle auringonpaisteelle tai tuulelle. Tasoita alue ja tee ohjeen mukaiset
perustusty6t. Varmista, ettd perustusosien alapuolinen maa on tiivistetty riittavasti.
Tarvittaessa pohjamaa tulee vaihtaa murskeeseen tai vastaavaan kantavaan maa-
ainekseen. Iskua vaimentavan pintamateriaalin vahvuus maaraytyy laskentakaavan
perusteella, joka esitetdan perustusohjeen lisasivulla.

3. Valineen rungon pystystysohje esitetaan sivulla 6. Yksityiskohtaiset kuvat asennuksesta
on koottu erillisille ohjesivuille, joissa ne on ryhmitelty kiinnitystavan mukaan.
Runkoon kiinnitettavista komponenteista on erilliset moduuliohjeet.
Noudata valmistajan asennusohjeessa ilmoittamia mitoituksia.

4. Tarkasta, etta valine on suorassa ja perustukseltaan tukeva.
Syvaperusteisissa valineissa on suoritettava riittava maan tiivistaminen
kaivantojen tayton yhteydessa.

5. Tee kayttoonottotarkastus ennen valineen kayttoonottoa toimitukseen
sisaltyvan poytakirjan mukaisesti. Poytakirja tulee dokumentoida.
Muista, etta paasy valineeseen tulee estaa, kunnes se on valmis, turvallinen ja kaikki
asennustarvikkeet on viety pois.




_JLAPPSET. TEXT PAGE

FINNO REF: TEXT
DATE:  27.4.2008

Copyright Lappset Goup Ltd

1. Kontrollera stycklistan och delarna i féorpackningen med hjalp av produktnumren.

2. Nar du valjer platsen for utrustningen bor du beakta de sékerhetsavstand som
tillverkaren meddelat i monteringsanvisningarna. Nar du valjer monteringsriktning maste
du beakta eventuell exponering for solsken eller vind. Jamna ut underlaget och utfor
grundarbetet i enlighet med instruktionerna. Sakra att marken under fundamentet ar
tillrackligt komprimerad. Vid behov kan man ersatta jorden med krossad sten eller
motsvarande barande jordmaterial. Styrkan pa det slagdampande ytmaterialet bestams
med hjalp av berakningsformeln som presenteras pa fundamentinstruktionernas
tillaggssida.

3. Monteringsanvisningarna till utrustningens stomme finns pa sidan 6. Detaljerade bilder
av installationen har samlats pa separata instruktionssidor, dar de har grupperats enligt
monteringsmetod. Det finns specifika modulanvisningar till de komponenter som ska
sattas fast i stommen. Félj de dimensioner som tillverkaren gett i
monteringsanvisningarna.

4. Kontrollera att utrustningen star rakt och stabilt. Fér utrustningar med djupt fundament
maste man komprimera jorden ordentligt nar man fyller igen groparna.

5. Innan utrustningen tas i bruk ska en slutbesiktning i enlighet med protokollet i
leveransen utforas. Protokollet maste dokumenteras. Kom ihag att tilltrade fill
utrustningen maste férhindras tills den ar fardig monterad, séker och alla
monteringstillbehor avlagsnats.




_JLAPPSET. TEXT PAGE

FINNO

REF: TEXT
DATE: 27.4.2008

2

Copyright Lappset Goup Ltd

. Use the parts list and the markings on the components to make sure that you have all of

the necessary parts.

. Choose a location for the product, taking into account the safety margins specified in

the mounting instructions. When deciding on the orientation of the product, pay attention
to potential sun and wind loads. Level the ground and prepare the foundations as
instructed. Make sure that the ground underneath the foundations is solidly packed. If
necessary, replace soil with wood chips or some other sturdy material. The thickness of
the safety surfacing should be calculated using the formula supplied with the mounting
instructions.

. Assemble the frame of the product in accordance with the instructions on page 6.

Detailed instructions for the different mounting alternatives are shown in the
supplement. Separate instructions are provided for the modular components that will be
attached to the frame. Please follow the stated measurements carefully.

. Make sure that the product is mounted straight and firmly into the ground. Remember to

pack the soil carefully when refilling the excavation around deep-mounted structures.

. Inspect the installation thoroughly using the checklist provided. Document the

completed checklist carefully. Remember to stop children from using the product until it
has been fully built and safety-tested and all mounting equipment has been cleared
away.




_JLAPPSET. TEXT PAGE

FINNO REF: TEXT
DATE:  27.4.2008

Copyright Lappset Goup Ltd

1. Uberprifen Sie die Lieferung auf Vollstandigkeit, indem Sie das Teileverzeichnis mit der
Lieferung abgleichen.

2. Wahlen Sie einen Standort flr das Gerat und bertcksichtigen Sie die vom Hersteller in
der Installationsanleitung genannten Sicherheitsabstande. Bei der Ausrichtung des
Gerates beachten Sie den mdglichen Einfluss von starker Sonneneinstrahlung oder
Wind. Ebnen Sie den Bereich und fihren Sie die Fundamentarbeiten nach der
Anleitung durch. Stellen Sie sicher, dass der Boden unter den Fundamentteilen
ausreichend verdichtet ist. Wenn nétig, muss das Untergrundmaterial durch Split oder
ein anderes tragfahiges Material ausgetauscht werden. Die Starke des stoRdampfenden
Oberflachenmaterials wird auf Grundlage einer Formel berechnet, die im Anhang der
Anleitung fur die Fundamente dargestellt ist.

3. Die Aufbauanleitung fur den Rahmen des Gerates finden Sie auf Seite 6. Detaillierte
Bilder der Installation sind auf gesonderten Anleitungsseiten zusammengestellt, auf
denen sie nach ihrer Befestigungsweise geordnet sind. Fir die am Geraterahmen
befestigten Komponenten gibt es besondere Modulanleitungen. Halten Sie die in der
Installationsanleitung vom Hersteller genannten Malde ein.

4. Uberpriifen Sie, dass das Gerat in Waage steht und sicher am Boden verankert ist. Bei
Geraten mit Tiefenfundamenten muss der Boden beim Auffillen des Aushubs
ausreichend verdichtet oder betoniert werden.

5. Fuhren Sie eine Inbetriebnahmeulberprifung entsprechend des im Lieferumfang
enthaltenen Protokolls durch, bevor das Gerat benutzt wird. Das Protokoll muss
aktenkundig dokumentiert werden. Denken Sie daran, dass der Zugang zum Gerat
verhindert werden muss, bis es fertig und sicher ist und alle Installationswerkzeuge
entfernt sind.




_JLAPPSET. TEXT PAGE

FINNO REF: TEXT
DATE:  27.4.2008

Copyright Lappset Goup Ltd

1. Vérifier a I'aide de la liste des piéces et des numéros de produit marqués sur les piéces
que la livraison comprend toutes les piéces nécessaires.

2. Choisir un bon emplacement pour I'équipement, compte tenu des distances de sécurité
indiquées par le fabricant dans les instructions de montage. Tenir compte de I'exposition
éventuelle aux forts rayons de soleil ou au vent lors du choix du sens de montage de
I'équipement. Egaliser la surface de I'emplacement choisi et effectuer les travaux de
fondation conformément aux instructions. S'assurer que le sol sous les piéces de
fondation a été suffisamment compacté. Si besoin est, le sol de fondation doit étre
remplacé par des pierres concassées ou un matériau portant similaire. L'épaisseur du
matériau de surface anti-choc est calculée selon la formule indiquée a la page
supplémentaire des instructions de fondation.

3. Les instructions d'érection de I'ossature de I'équipement sont indiquées a la page 6. Les
images détaillées du montage sont adjointes aux pages d'instruction séparées ou elles
sont groupées selon le mode de fixation. Des instructions modulaires séparées sont
données pour les composants a fixer sur I'ossature. Respecter les mesures données
par le fabricant dans les instructions de montage.

4. Vérifier que I'équipement est droit et que sa fondation est solide. Dans le cas des
équipements dont la fondation se trouve sous le sol, le sol doit étre suffisamment
compacte lors du remplissage des trous.

5. Effectuer un contrdle de mise en service conforme au procés-verbal compris dans la
livraison avant la mise en service de I'équipement. Ce procés-verbal doit étre
documenté. Ne pas oublier d'empécher 'accés a I'équipement jusqu'a ce que celui-Ci
soit prét et sdr et que tous les outils de montage aient été enlevés.




8% LAPPSET.

Impact Area EN 1176 REF:

Copyright Lappset Group Ltd

DATE: 20.2.2018

4x

]

]

h <600

Without movement
and therefore
without Impact Area

Totally hard surfaces.

Note. Lappset does not recommend
totally hard surfaces at all.

E.g. concrete or asphalt

h <600

With movement
e.g. rocking

Materials with very limited
impact attenuating
properties.

E.g. wood
U 1Y Dl 1Y i

h <1000

Materials with significant
impact attenuating
properties.

fine gravel 0—8 mm

T Ay vy 454 a4 B <4 s a4

saa 0300 237 439 40 eml e Ly
AR 44. .44 24 i

Mmi%
h <3000 Loose fill material
E.g. e T
sand/gravel 0,25...8 mm D60/D10<3,0 | = o ]
Woodchips 5...30 mm : ae Ol
bark 20...80 mm < . ) :
e PR S R
S h
30 cm < 2,0 m
40 cm < 3,0 m
Syntethic granulates ’—‘
S h
40 mm ~> 1,2..1,3 m S
50 mm ~> 1,5...1,7 m RS I Al //ﬁ‘
60 mm ~> 1,8...2,0 m :::*:7:*:::::::::::::::
70 mm ~> 2,1..2.5 m P S

Note. For accurate values, see
manufacturer’'s instructions.



lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text


% LAPPSET.

EN 1176 FOUNDATION

REF:
DATE:

20.2.2018

REMOVE SAFETY SURFACE /SAND/GRAVEL
TO CHECK FOUNDATION

9

REMOVE SAFETY SURFACE /SAND /GRAVEL
10 CHECK FOUNDATION

Copyright Lappset Group Ltd




Copyright Lappset Group Ltd

% LAPPSET. 705375

FLORA DATE: 30.1.2018 1(2)

(1) 701092 |pes|(2) 705331 |pcs

15x120x700 45x645x1670
(3) 705363 |pcs|(4) 705373 |pcs

N

L 2120 95x1005x1365
(5) 705374 |pcs|(6) 900240 |pcs

DET 1, 3, 4 \

o
(93
[%]

95x1005x1369 28x70
(7) 909256 |pes|(8) 909855 |pes
DET 6 4 4]
)
S| |

216/8.4x1.6 | | M8x35 | |

(9) 980107 |pes|i0) 980123 [pcs|

13 4

S — —

P
@6x60 | | @7x60 | |
(1) 980128 |pcs| pes
5

. ° ] -

‘ o7x40 | | B

33 o) P
— O

e - -

PCS PCS
o

~ I I
¥




Copyright 1998 Lappset Group Ltd

% LAPPSET.

705375

FLORA DATE:  30.1.2018 2(2)
DET 1 DET 2
"‘v
XN o
/
WBEx /0
216/8,4 (900240)
(909256)
MEx 3D
(909855)
DET 3
Woxo0

(980107)

/x40

(980128)

DET 5 /x40

(980128)

(980123)

DET ©




% LAPPSET.

HPL

WALLS 4 points

Copyright Lappset Group Ltd

DATE: 29.3.2016 1(2)
T (1) 903176 |pes|(2) 909850 |pcs|
PN 4
o N\ <Y
DET 1,2 ||fS] W
| wexes | ]
(3) 909256 |pes|(4) 909633 |pcs|
oy
016 /8.4x1.6 | | -
(5) 980123 |pes| pes
4 -
o7x60 | | N
PCS PCS
uf - .
Uﬁ =
J
D’ — —o
0o
0a 0o
O
0a 00
8 0o DB _ u’l\)
~ o (@[] —
3 =
[T
800




8 LAPPSET@ WALLS 4 points

Copyright 1998 Lappset Group Ltd

HPL DATE:  29.3.2016 2(2)
g v DET 2.3 N DET 2,3
5 al f Al
g ' Sl ° off
~ ) q ®
®
®
®
1 il 1 1
DET 1 YEN DET 2 |
(909850) 903176
216 /8.4 g‘ O 7x60
(909256) 1(980123)
10mm plate M8
(909633)
DET 3
MEx25
<90985O>9[l3ﬁ76
216 /8.4
(909256)
15mm plate \ M8
(909633)




% LAPPSET.

FINNO

FLOOR

Copyright Lappset Group Ltd

DATE: 28.11.2014 1(1)
(1) 008986 |Pes|(2) 706443 |pes
1 2
IR - 2]
NS — —
i 750x750 32x45x702
s (3) 900240 [pes|(4) 980101 [pcs]
8
DET 1,23 28x70 24.5x70
PCS PCS
PCS PCS
PCS PCS
DET 1 DET 2 DET 3
Naulanauha kannatinlistan puole|le.
04.5x70

1

(980101)




BASE

% LAPPSET.

1(1)

(1) 909531 |pes|(1) 909513 |pes

26.6.2012

DATE:

FINNO

PCS

PCS

PCS

(1) 902062

N
_l
Ll
()
/N
X
A
N—
)
o)
=
o
D
N
_l
Ll
()
o o O
s R I
Hig——— (10
=~ ®)
- \\\ ~
o o o o
— \\\\\ =
Ll
()

N1 dnogo 1ssddpa

L 1




Copyright Lappset Group Ltd

% LAPPSET. FOOT

BETON FOUNDATION o

27.10.2015

(2) 905104 |pcs

)

M10




3% LAPPSET.

RINGS

FINNO DATE: 11.11.2014 1(2)
T (1) 706735 [pes|(2) 980128 |pes
T 1 2
TS
K%
Il / ] /‘ I— —
] jis (3) 980123 |pes| Pes|
4] ]
@7x60 ] ]
PG| PCs]
PCS PCS
U] ] ]
ul J
U
D’ — —
RINGS OPTIONS
706735 706735—301 BLUE
M 706735—302 RED
706735—303  BEIGE
706735—-304  GRAY
0 0 706735—305 BLACK
706735—306  YELLOW
o
S
/x40

Copyright Lappset Group Ltd

800

(980123)

(980128)




% LAPPSET.
FINNO

RINGS

DATE: 11.11.2014

2(2)

370
167
=
)
g
[T 11
800
567 370

i
H
(710)

Copyright Lappset Group Ltd

1600




3% LAPPSET.

PLATE

Copyright Lappset Group Ltd

FINNO DATE:  21.8.2014 1(2)
s (1) 706896 |pcs|(2) 903176 |pcs|
— %; o 2
15x150x703 | | ]
(3) 909850 |pes|(4) 909256 [Pcs|
DET 3 DET 1,2 2] 2]
|| &
M8x25 | | @16/8.4x1.6| |
(5) 909633 |pes|(6) 980123 |pcs|
2] 2]
@
M8 | | e7xe0 | |
s P
o n B
.l
OR
!
o P d
\%
[ [
800 800




Copyright 1998 Lappset Group Ltd

% LAPPSET.

PLATE

FINNO DATE: 21.8.2014 2(2)
DET 1 YL DET 2
90317/6 7¢¢L¢£
X
716 /8.4 a
@
(909258) I
g“ @7x60
1(980123)
@
\ M8
(909633)

DET 3

(909633)

@16 /8.4
(909256)

9031/6

) /x60

(980123)

/\/‘/
MEXx25
(909850)




% LAPPSET.

707349

Aagciald | oo o 4 O | 4+

S

COopyr gt

e g
A

1520x705

FINNO DATE: 8.12.2015 1(2)
(1) 707341 |pes|(2) 900240 [pes
DET 1 & (40
o8x70 | |
(3) 980123 |pes|(2) 980128 [pes
8] 4]
o7x60 | | e7xa0 | |
s s
) e
s P
§Lj; E E
i I ji I N
S NET OPTIONS
. 00
: 707341
1 T T [y 707341-301  BLUE
: 1.974 T A\ N T 2 707341-302  RED
] 1 i 707341-303  BEIGE
Jl 707341-304  GREY
i}
800 707341-305  BLACK




% LAPPSET.

707349

FINNO DATE:  8.12.2015 2(2)
i220 275
D = i
Q ﬂ (980128)
= ?7x60
(980123)
.l I M
3
e~ 7870
il ™ (900240)
b dh—
N .
fp— —q g
I [




% LAPPSET.
FINNO

707373

Copyright Lappset Group Ltd

DATE: 14.12.2022 1(1)
(1) 929561 [cs|(2) 909568 |pes|
| wmexss | |
(3) 901104 |pes|(4) 900240 |Pcs|
£ 4 16]
&, || ||
ﬁ M8x80 @8x70
(5) 905083 |ecs((6) 909256 |pes|
8 28
5 ] TN
[, 32 | | o84 | |
—< (7) 980152 |pcs|(8) 980160 |pes]
‘ 4| il
’ ®
@24/8.4 | | -
’ DET 2,5 |(g) 905112 [pes|{0) 909633 [pcs
DET 1 8 4
®
DET 28x80 DET 3 022 | | Ms |
901104 PCS PCS
= J— @ 24/84
980152 ] ]
E
— 216,/8.4
: ‘\_ 909256 - -
Use as many as needed (1-5)
S M8 o) I
980160
905112 ] ]
DET 2
MB8x55
Q&; 909568 — —
Gpf 929561
d’/'g PCS PCS
/‘ 905083 | -
o 905082
= 2
@
us __— @ 16/8.4

980160

909256




40

PCS
PCS

1(1)

755x755

)
216/8.4
(O 707590

PCS@ 909256 |pcs

40

980123

@E

707588

DATE:

% LAPPSET.
FINNO

120

110

0ocl

DET 1
(980123)

p17 dnout9 jesddp jybrhdon



% LAPPSET.

GRIP

FINNO DATE:  18.1.2016 1(1)
(1) 900240 [pes|(2) 900727 [pes
1 §§§§§§ 1
| M _
3)
N | _
B M10x80
PCS PCS
. _ |
(3 907688 [Pss|(3) 907701 [Pes|
L 1]
765 B | _
PCS PCS
- PCS PCS
DET 1 ) __ __
Ox80
Pre—dril
100 Hole. | ___
ooz oo

M1
(9\77)%)

N

PCS

PCS

Copyright Lappset Group Ltd

SET 3

—

PRE—-DRILL HOLE.

St

870
(900240)

PCS

PCS

PCS

PCS




8 LAPPSET. 707985
FINNO DATE: 7.2.2018 1(3)

706443*

Copyright Lappset Group Ltd

U DET 1 DET 2 H
Hox!  Note:
DET 6
903260%*
DET 5

707983%*

707978+ e el 4
I DET 3
uj

* NOT INCLUDE

W




3% LAPPSET.
FINNO

707985

DATE:

7.2.2018

DET 1

DET 2

1500

s

D

dp

600

1000

Copyright 1998 Lappset Group Ltd




% LAPPSET.

707985

Copyright 1998 Lappset Group Ltd

FINNO DATE: 7.2.2018 3(3)
909850 |pcs 900342 |pcs 909633 |pcs 909855 |pcs 900498 |pcs 909256 |pcs
4 8 36 8 16 8
P | & || ||| | &
oy oy y
M8x25 M8x16 M8 M8x35 M8x50 216 /8.4x1.6
909205 |pcs 900240 |pcs 980102 |pcs Q901902 |pcSs PCS PCS
36 24
T
M8x60 @8x70 @5x40 30.7x60.9x100
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS
PCS PCS PCS PCS PCS PCS
NOT INCLUDH | ] ] ] ] ]
706443 |pcs 706710  |pcs 707437 |pcs 707976  |pcs 707977 |pcs 707978 |pcs
4 4 1 1
32x45x702 216x618 32x45x1502 15x750x1550 15x750x1550 15x550x550
707983 |pcs 903227 |pcs 903260 |pcs PCS PCS PCS
T 1 1 4
396x840 2618x34 50x130x704




Copyright Lappset Group Ltd

% LAPPSET.

709057

DATE: 16.4.2019 1(3)
(1) 980123 |pes|(2) 901302 |Pcs|
18] 4]
Pl
N [
DET7 - -
@7x60 @20/10.5x2
(3) 980150 |pes|(4) 909863 |Pcs|
18] 18]
708988 /
/. @
M8 | mexes | |
DET 2
DET 6 (5) 900240 |pes|(6) 980128 |Pcs|
DET 3 ﬁ
706443
@8x70 | | @7x40 | |
PCS
702646 208950
708951 708990 PCs|
708991 | DET 5 B B
|
(O 702646 |pcs|() 706443 |pcs
1:50 NEXT ] ]
—:I2 NOT INCLUDED L i
SEURAAVAT
El SISALLY / /
PAKETTIIN
32x95x502 | | 32x95x702 | |
e (O 708988 |res|(C) 708990 |pes|(C) 708991 |pes
1 1 2
o I | |
Q
(o)}
2 gi6x1100 | | o16x795 | | @16x575 | |
(O 708950 |pes() 708951 |pes
I\ ) i 1 O "o "o
o ] 1] 1
o
‘° <
5| u| n| \/
| 15x750x750 | | w@esoxis | |




Copyright 1998 Lappset Group Ltd

% LAPPSET.

709057

DATE:  16.4.2019 2(3)
DET 1 DET 2
| ?5x50
" (902270)
DET 3 DET 4
220/10.5
@7x40
| (901302)
(980123)
DET 5 DET 6
MBx65
(909863) .
M8
(980150) oo
o ° (980150)




Copyright 1998 Lappset Group Ltd

% LAPPSET"

709057

DATE: 16.4.2019 3(3)
DET 7
N
@7x40 . :\§§§§§§
(980128) "\ &
@7x60 —
W
[ 708988
— 501 BLUE
— 502 RED
O 708990 — 5035 BEIGE
oo — 304 GRAY
( — 505 BLACK
&
(O 708991
=2




Copyright Lappset Group Ltd

% LAPPSET.
FINNO-CUBIC

709862

DATE: 3.9.2021

DET 1

DET 2

©04.5x70
980101

(1) 900240
@8x70 | | @4.5x70 | |
PCS PCS
PCS PCS
(O 709859 [pes|(C) 709861 [Pos
11 |1
32x350x748 | | 32x350x748 | |
(O 709867 |rcs|() 709868 |Pcs)
i L
32x350x748 | | 32x350x748 | |
(O 709858 |Pcs [PCs|
| 2] ]
32x45x290 ] ]
PCS PCS




% LAPPSET. 701932

FINNO DATE:  9.11.2006 1(1)
Pes|(2) 909628 [pcs|

1] 4]

M10x100 | |

Pes Pes|

PCs PCs|

s pos

DET 1, 2, 3 | | |

Pes Pes|

s pos

DET 1 DET 2 DET 3
MTOx100 902115

175

Concrete

909628

it | n L4
\/U'J.yl |\d||L LUPPDUL o1 \JUP | aw)
o |2
b «O oo
/ RIS
om0 te | T2
KR
b
o 9
o
o
Z
- 1
—\




16.2.2021

LApp
Halite 178 ET Groy

10 PL
FINCARSVANIEN, td

Loy
gg;g«e% broup L1
PhOVANH

‘E}Sﬁ I'.J.:‘menm

123456
I Wi
F5675g

FSe7my F

e,
et a1

Tuotekyltti tulee tuotteen mukana yhdella seuraavista tavoista:

1) Metallinen tuotekyltti ja kiinnitysruuvit
- Kiinnita tuotekyltti ruuveilla tolppaan noin 2 metrin korkeuteen kuvan 1 mukaisesti.

2) Tuotekylttitarra
- Puhdista maalattu metalli- tai vaneripinta pdlysta ja kosteudesta. Liimaa tarra kuvan 2 mukaisesti.
- Huom. Al3 kiinnité tarraa karheapintaiseen laminaattiin tai maalattuun puuhun.

Var produktmarkning levereras pa ett av foljande satt:

1) Produktskylt i metall
- Fast skylten med de medféljande skruvarna

2) Sjalvhaftande produktetikett

- Rengor den pulverlackerade metallytan eller laminatytan sa att den blir fri frAn smuts och fukt. Fast etiketten enligt fig. 2.

- Obs! Fast ej etiketten pa detaljer med skrovlig yta eller pa malat tra.

Product label is delivered by one of following ways:

1) Metal product label and screws
- Fasten the label with screws.

2) Label sticker
- Clean the painted metal or plywood surface from dirt and moisture. Fasten the sticker as shown in the figure 2.
- Note. Do not attach the sticker to rough surfaced laminate or painted wood.

La plaque d’informations produit est livrée sous I'une de ces 3 formes :

1) Plaque métallique et vis
- Fixez la plaque a 'aide des vis.

2) Etiquette autocollante

- Avant de coller I'étiquette, nettoyez le composant métallique peint ou la plaque de contreplaqué, de toute saleté. La surface

doit étre seche (voir image 2).
- Attention, ne pas coller I'étiquette sur une surface lamellé-collée irréguliere ou sur du bois peint.

Die Auslieferung des Produktaufklebers erfolgt auf eine dieser Arten:

1) Produkt-Schild aus Metall incl. Schrauben
- Die Befestigung des Schildes erfolgt mittels der Schrauben.

2) Aufkleber

-Entfernen Sie zunachst Schmutz und Feuchtigkeit vom lackierten Metall bzw. von der Holzoberflache und bringen Sie den

Aufkleber wie im Bild oben rechts beschrieben auf den gesauberten Untergrund auf.
- Beachten Sie: Bringen Sie den Aufkleber nicht auf raues laminiertes oder lackiertes Holz an.

LAPPSET GROUP LTD P.O. Box 8146 | FIN-96101 Rovaniemi | Tel: 0207 750 100 | lappset@lappset.com | www.lappset.com



Copyright Lappset Group Ltd

B LAPPSET A00519/A00547/A00548

FINNO DATE: 25.5.2012 1(1)
(1) A00519 [Pes|(2) ADD547 [pes
1 1]
<
A00548
= | | = [ ]

P02979
A00547

(3) A00548

<




% LAPPSET.

A00549 & A00553

DATE: 27.10.2020

13)

Copyright Lappset Group Ltd

DET 2-3

w/g
/

P02981

DET 1-4-5

(1) P02981
(A00549)

12x595x1100

PCS

PCS

(2) 710065
(A00553)

N

12x380x700

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS




% LAPPSET.

A00549 & A00553

DATE:  27.10.2020 2(3)
(O P02981 | 980123  [Pes|(O) 903176 |pes|(0) 903215 |pes|(C) 905827 |pes|(C) 909256 |pes|(C) 909633 |pes
(00548) | " 4 SO o g g
7x60
s
et & ||| &
H— ] ] ] ] ]
7x40 M8x25 216/8.4 M8
P P s P P P
(O 710065 () 980123 |rcs|(0) 903176 |pcs| pes((C) 905827 |pes|(C) 909256 [pes|(C) 909633 |pcs|
(A00553) 4 4 ] 4 4 4
TP
oy ©
o7x60 | | T | wmex20 | | woe/84 | | mMe | |
P PO
DET 1 DET 2 905827 DET 3
903176 /ﬁ%
20
@ |
él 07x60
5 |
X
/?F
DET 4 DET 6
716 /8.4 %3 N
©

\ 903215

905827

Copyright 1998 Lappset Group Ltd




#® LAPPSET.

DATE: 27.10.2020

A00549 & A00553

3(3)

copyright Lappset Group Ltd

EXAMPLE ASSEMBLY!

+2760

600

600

>V Voo
P N A +2065
> Y Voo

+1370

+0




% LAPPSET.

A00800

Copyright Lappset Group Ltd

FINNO DATE:  27.10.2020 1(2)
(1) 905827 PCs|
4
>
M8x20 N
(3 909256 |rcs|(a) 980123 |Pcs|
i il
< —
216/8.4 @7x60
(5) 909633 |cs|(6) P05280 |Pcs|
4 1
1“ T ]
Z— [0
M8 | | 12x680x700 | |




#® LAPPSET.

A00800

FINNO DATE:  27.10.2020 2(2)
DET 1 905827 DET 2
903176 /é
@
016 /8.4
| 97x60

@/F

Copyright 1998 Lappset Group Ltd




% LAPPSET.

FINNO

A10573

DATE:

20.5.2021

1(5)

(1) P15188

(2) P15200

(4) P15184

PCS

\

32x95x700
(6) 980123 |pcs
E 8
113x40x3 o7x60 | |
(7) P15203 P15204 |pes|
6]

— /
32x95x725 32x95x1550 | |
(9) P15182 |pes|1Q) 980101 [pes

=

32x85x1550

@4,5x70

(1) P15217

Pes|i2) 980128

F i
12x700x750 o7x40 | |
(3 903215 |[PCs|i4) 909850 |PCS|
1

3
Mex2s | |
19 980151 |Pes|(ie) 909633 [Pes|(i7) 905103 [pes|
4
] I\ —

D[] o

oi6/8.4 | | M8 PT-28/32—H| |




A10573

% LAPPSET.

FINNO

2(5)

20.5.2021




% LAPPSET. A10573

FINNO

20.5.2021

3(3)

al Lt 10QQ | 4 | +4

Same details for both arcs

905071

980123
(7x60) A

565




% LAPPSET. A10573

FINNO DATE:  20.5.2021 4(5)

980128
(7x40) T ¢
X6

P15217 1 [

FloZl\ /-

P15217

903215

P15217

980151
(216/8.4)

909633
e

O @f

980151

(216 /8.4)
909850
(M8x25)




% LAPPSET. A10573

FINNO DATE:  20.5.2021 5(5)

S5mm gap
between planks NOTICE!

® P15203 is 25mm longer
than P15184
)
® \ P15203

P15184

980101
(4,5x70)

P15182

™ NOTICE!
20mm gap between end of
P15204 and P15182

Smm gap
between planks

P15204

NOTICE!
20mm gap between end of
P15204 and P15203

P15203




A10579

®
DATE:

% LAPPSET

FINNO

1(3)

20.5.2021

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

PCS

(1) 903093

A10579 |prcs

Q@




% LAPPSET.

FINNO

A10579
20.5.2021 2(3)

770

=

420

800




% LAPPSET. A10579
FINNO 20.5.2021 3(3)

903093
(28x90)

____ﬂf//////////// 903093
(28x90)




% LAPPSET.
FINNO

A10581

DATE:

20.5.2021

1(9)

P00 0 0 0 0 0 4 0
— T T ) )

HP N S | ES
FOP g COpp Sttt oroogp Ctd

pes|(2) P15200

PCS

(9 P15184 |pes|
2]
32x95x700 | |
(6) 980123 |pes|
F il
113x40x3 o7x60 | |
(7) P15203 [pcs|(B) 980101 [Pcs|
] 76]

—
32x95x725 | | ©4,5x70 | |
(9) P15292 |pes|i0) 905103 |Pcs|
5] 4]
32x95x760 | | PT-28/32—H| |
(1) P15302 |pes|(i2) P15305 |Pcs|
1] 1]
93x93x510 | | 32x120x510 | |




% LAPPSET. A10581
FINNO 20.5.2021 2(5)

903093

32

P15200

905103

- N

P15188

903093




% LAPPSET. A10581
FINNO 20.5.2021 3(5)

e

Same detail for both arcs

905071

980123
(7x60)




% LAPPSET.
FINNO

A10581

DATE:

20.5.2021

4(5)

980101
(4,5x70)

NOTICE!
P15203 is
25mm longer
than P15184

P15184




% LAPPSET. A10581

FINNO DATE:  20.5.2021 5(5)

P15305

Smm gap
between planks

P15292

> 980101
Pt (4,5x70)




	asennus.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


	Tekstisivu.pdf
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10

	A10579_1
	A10579_2
	A10579_3



